
Name: ______________________________________   Date: _________ 
A2H: Vertex Form        Ms. Loughran 
 
 
Do Now:  
 
Put the following quadratics in vertex form, and then find all of the following for it: 
 

(a) the vertex 
(b) the axis of symmetry 
(c) the x-intercepts, if any 
(d) the y-intercepts 
(e) the domain 
(f) the range 

 
 
1.  22 4 11y x x          2.  23 5 1y x x    
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1122113

4 21 17 13 4 31 8 17
vertex 1,13 vertex E 42
axisofsymmetry 4 1 axisofsymmetry X E
D 0,0 D 0,0
R 0,13 R 42,0
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2101713 0 3 4 4
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